REVISION

CHOOSE THE RIGHT ANSWER

1-I had to put........ having a party because [ was ill.  (Up
- out-down- off)

2-he went to work................. he felt unwell.

( However- although-despite-in spite of)

3-The customs officer asked us where ................. from

(Had we come —have we come-we had come-did we

come.)

4-He carried on working............ his illness.

(In spite of- although-moreover-however)

5-ThE €At cosas snempamsnan during the night. (Must steal-

must stolen-must be stolen-must have been stolen)

6-Youmustbe ............. not to make mistakes in your

homework. (Careless- care- careful- caring)

7-The staff in that shop are extremely kind

. 1L T (Helpless-helpful-unhelpful-help)

8-1'm afraid you'll have to............... He’s slightly deaf.

(Slow down-turn up-speak up-look up)

9-1 was driving along the motorway when I saw a

restaurant, so I stopped ............. something (Eating
- to eating- for eating- to eat.)

10-The injured motorist.............. to hospital

(Was taking-took-is taking-was taken)

11-He had to go back to the shop because he............. to

get butter. (Had forgotten-has forgotten-forgets- forgot)
12-1 thought this dress looked really nice in the shop, but
nowlIwishL................. it (wouldn’t buy-had bought-
would buy —hadn’t bought)

Gerund or infinitive or both?

1-There is something wrong with the car. I’ve tried (to
clean-cleaning- both) the spark plugs, but it still won't
start.

2-On his way home he stopped at the newsagent (to buy-
buying- both) an evening paper.

3-I regret (to say- saying-both) that I won’t be able to come
to the party.

4-It wasn’t until I wrote programs myself that I began (to
understand- understanding —both)

5-1 wish it would stop (to rain-raining-both)

6-Although I don’t look forward to it, I like (to go —going-
both) to the dentist every six months for a check —up in
case I need any fillings._

CONDITIONAL

I had a baby .I gave up my job.

My husband lost his job. We came back to England.

We finished paying for the house because we worked hard
for many years.

We won the football pools. Our problems disappeared.
We bought a large four-bedroom house. We found it
difficult to furnish it.

REWRITE THE SENTENCES BEGINNING

WITH THE WORDS GIVEN

1-Perhaps someone has handed your cheque book in at the
bank

Your chequebooks: . ..wssesanmimmensmnsss vanmesss

2-I'm sure someone disturbed the burglars-they didn’t take
the video.

Thig DULGLAES:: . s casssnsms a3 S s E A
3-There’s a chance they’ll arrest him if he tries to leave the
country.

5-“It was wrong of you to stay out so late,” said Harry to

his son.

Harry told his son thathe.............................

6-People say Chinese food is the best in the world.
ChineSe 1000 cuvs vssnmis svnes s svis sdssess i sriasi

7-Perhaps I was asleep when you called because I didn’t

hear the phone

8- I'm sure I was in the bath when the phone rang
Thie PhORE ;e susasnsvenvms s aans s arsss s v s sm
9-1t would have been better if you had tried ringing again

10-Although she had terrible pains in her leg, Ann climbed
the mountain.

Inspiteiof .ccocssmmmsmneisssmsissasmas ssmonss i b ssas
11-I'm not going to go to the dance because I haven’t got a
partner.

Fill in the gaps with the following

One-handed one-sided best-dressed
second-hand old-fashioned
Short-sighted two-faced left-handed
bad-tempered kind-hearted

1-Although both her mother and father write with their
right hands, Jenny is......................

2-She hates anything modern. She only likes vintage cars,
black and white filmsand ...................... furniture.
3-He seems friendly but he says terrible things about you
behind your back; he’s very.........

4-Fashion magazines often like to print lists of who they
think are the ten....................... people in the country.
5-She’s @ Very.....oooveuiiiiiiiiiiiinennennn. woman; she’s
always looking after the old people in the

village and giving help to anyone who needs it.

6-You have absolutely no chance whatsoever of beating
him at tennis. If you played him, it would be a
completelYisis s smnsnmmmeansras match.

Compound adjectives

-A family with only one parent

- A car which has only two seats

-A suit consisting of three pieces

-A picture which is drawn to represent three dimensions
- A word consisting of four letters

-An interval of five minutes

Choose the correct prefix from the following list to

make the opposite of the words below

Mis- un- n- il- im- dis- ir-
Pack expected  agree spell likely
legal regular lucky usual probable
Possible  dependent cooked correct



